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Class – XII

Subject – Accountancy
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Time Allowed: 3 hours                                                                                        M.M.:80

_______________________________________________________________________________

General instructions:
(a) This question paper is divided into two parts i.e Part- A and Part- B.

(b) All questions are compulsory. Attempt all parts of a question at one place only.

(c) Marks are indicated against each question.

(d) Show all the working notes very clearly. 


	
	PART- A

	

	Q.1
	Why and by whom is an ‘Income and Expenditure Account is prepared?
	(1)


	Q.2
	State any two items that may appear on debit side when capitals are fixed.
	(1)


	Q.3
	How are accumulated profits and losses adjusted at the time of admission of a partner? Give journal entry.
	(1)

	Q.4
	What do you mean by ‘Super Profit’?

	(1)

	Q.5
	What do you mean by debentures issued as collateral security?

	(1)

	Q.6
	On the basis of the following information, calculate the amount of stationery to be shown in the Income and Expenditure A/c for the year ended 31st March, 2007.

                                                                                                                 Rs.

Stock of stationery as on 1-04-2006                                                    1,00,000

Stock of stationery as on 31-03-2007                                                     80,000

Amount paid for stationery during the year                                         4,00,000

Creditors as on 1-04-2006                                                                      40,000

Creditors as on 31-03-2007                                                                    20,000

	(3)

	Q.7
	State the conditions under which shares can be issued at discount.

	(3)

	Q.8
	A limited company issued 1,000 equity shares of Rs.100 each as fully paid up in consideration of the purchase of plant and machinery worth Rs.99,000. Make entries in the books of the company.
	(3)

	Q.9
	X, Y and Z are partners in a firm sharing profits in the ratio of 5:3:2. They decide to share future profits and losses in the ratio of 2:3:5 with effect from 1st April, 2006. They also decide to record the effect of the following revaluations without affecting the book values of the assets and liabilities, by passing a single adjustment entry:

                                                                              Book Value                             Revalued Value

                                                                                  Rs.                                              Rs.

 Land and Building                                                1,00,000                                      1,50,000

Plant and Machinery                                              1,50,000                                      1,40,000

Trade Creditors                                                         50,000                                         45,000

Outstanding Expenses                                               45,000                                         60,000

Pass the necessary single adjustment entry.     

	(4)

	Q.10
	(a) Calculate interest on drawings of Mr.X if he withdraws Rs.1,200 at the end of every month, assuming interest on drawings is calculated @ 10 % p.a.

(b) Ram and Mohan are partners in a firm sharing profits and losses in the ratio of 3:2. Their fixed capitals were Ram: Rs.1,20,000, Mohan : Rs.90,000. For the year 2006 interest on capital was credited to them 6% instead of 5%. Give necessary adjusting entry for the rectification of the error. Show working notes clearly.   

	(4)

	Q.11
	A company issued 12% debentures of Rs.10,00,000 at discount of 8% redeemable at par. Assume that the debentures were redeemed by drawings method in the following manner:

Year end                                                  Amount

2                                                             2,00,000

4                                                             4,00,000

5                                                             4,00,000

Compute the amount of discount to be written off each year and also prepare discount on issue of debentures account for the first two years.

	(4)

	Q.12
	From the following Receipts and Payments A/c of a club and additional information, prepare an Income and Expenditure A/c for the year ended on 31st December, 2006:

Receipts

Amount(Rs.)

Payments

Amount(Rs.)

To Balance b/d

Cash

Bank

Fixed Deposits at 6% p.a.

To Membership Subscription

(including Rs.600 for 1984)

To Entrance Fees

To Donation 

To Interest on fixed deposits

To Tournament Fund

To Sale of crockery

(Book value Rs.120)

  352

2,738

3,000

4,000

   275

   501

     90

2,000

   200

_______

13,156

By Crockery Purchased

By Maintenance

By Match Expenses

By Salaries

By Conveyance

By upkeep of lawn

By Postage Stamps

By Purchase of cricket equipment

By Sundry Expenses

By Investments

By Tournament Expenses

By Balance c/d

Cash                               Bank                            

Fixed Deposits            

   265

   682

 1,324

 1,100

      82

    424

    105

    972

    200

    570

 1,880

    220

 2,332

 3,000

13,156

Information: (a) Monthly Salary Rs.100

(b) The value of unused postage stamps is as follows:

      31st December, 2005       Rs.75

      31st December, 2006       Rs.90

(c) Stock of cricket equipment :

      31st December, 2005       Rs.321

      31st December, 2006       Rs.280

(d) Arrear of membership subscriptions:

      31st December, 2005       Rs.660

      31st December, 2006       Rs.800

(e) Donations and Entrance fees are not to be capitalized.
	 (6)

	Q.13
	Amit, Akhil and Nitin were sharing profits in the ratio of 2:1:1. Their balance sheet as on 31-12-2006 stood as follows:

                                                Balance Sheet as on 31 December, 2006

Liabilities

Amount

   (Rs)

Assets

Amount

    (Rs.)

Sundry Creditors

Bank Loan

Bills Payable

Profit and Losses A/c

Amit’s Capital

Akhil’s Capital

Nitin’s Capital

 24,400

 10,000

 18,000

  2,000

 50,000

 40,000 

 40,000

1,84,400

Cash 

Sundry Debtors     20,000

Less: Provision       1,600

                               _____

Stock

Land and Building

Investments

Goodwill

Advertisement Expenses

 40,000

 18,400

 20,000

 55,000

 24,000

 12,000

 15,000

_______

1,84,400

Nitin died on 31st March, 2007. The following adjustments were made :

(a) Building be appreciated by Rs.2,000.

(b) Investments be valued at 10% less than the book value.

(c) All debtors (except 20% which are considered as doubtful) were good.

(d) Stock be increased by 10%.

(e) Goodwill be valued at two years purchase of average profits of the past five years.

(f) Nitin’s share of profits to the date of death to be calculated on the basis of the profits of the preceeding year. Profits for the years 2002, 2003, 2004, 2005 were Rs.26,000, Rs.22,000, Rs.20,000 and Rs.24,000 respectively. 

Prepare Revaluation Account Nitin’s capital account to be rendered to his executive, Executive’s account assuming that Rs.18,425 be paid immediately to his executor.
	(6)

	Q.14
	On July 1, 2006, A Ltd gave a notice of its intention to redeem its outstanding Rs.4,00,000, 5% debentures on January 1, 2007 at Rs.102 per cent and offered the holders the following options:

(i)  To subscribe for:

(a) 6% cum preference shares of Rs.20 each at Rs.22.50 per share accepted by the holders of Rs.1,71,000 stock.

                                                                   OR

                  (b) 6% debentures stock at 96 per cent accepted by the holders of Rs.1,44,000 stock.

(ii) To have their holdings redeemed for cash if neither of options under (i) was accepted.

You are required to give journal entries necessary to record the redemption and allotment under (i) (a) and (b) and to state the amount of cash required to satisfy the option (ii).       

	(6)

	Q.15
	The following is the Balance Sheet of Heera and Panna, a partnership business, as on 31st December,2006:

Liabilities

Amount

   (Rs)

Assets

Amount

    (Rs.)

Sundry Creditors

Heera’s Capital

Panna’s Capital

 40,000

 48,000

 54,000

1,42,000

Bank

Sundry Debtors

Stock

Furniture

Machinery

12,000

30,000

40,000

10,000

50,000  

1,42,000

On 1st January,2007 the partners decided to revalue the assets and liabilities as under on the eve of admission of a new partner, Ruby for 1/4th share in the future profits:

Plant and Machinery                Rs.60,000

Debtors                                     Rs.27,000

Furniture                                   Rs. 9,500

Stock                                         Rs.36,000

An amount of Rs.3,000 included in creditors was no longer a liability and hence, required to be properly adjusted. A contingent liability of Rs.500 not included in the above Balance Sheet had to be cleared. Goodwill of the firm is valued at Rs.20,000 and Ruby brings Rs.15,000 as his capital.

Pass necessary journal entries, prepare partners’ capital account and Balance Sheet of the new firm.

                                                          OR

A, B and C are partners in a firm sharing profits and losses in the ratio of 5:3:2 respectively. Balance Sheet on March 31, 2006 was as follows:

Liabilities

Amount

   (Rs)

Assets

Amount

    (Rs.)

Sundry Creditors

Bills Payable

Workmen’s compensation fund

A’s Capital

B’s Capital

C’s Capital

 22,000

   8,000

 25,000

 65,000

 50,000

40,000 

 2,10,000

Fixed Assets

Sundry Debtors

Stock

Cash 

Profit and Losses A/c

1,00,000

   45,000

   45,000

   10,000

   10,000

_______

2,10,000

 A retires on 1st April, 2006 and for this purpose:

Goodwill was valued at Rs.25,000; Fixed Assets at Rs.1,25,000; Stock worth Rs. 15,000 was taken by A at Rs. 18,000 and remaining stock at Rs.28,000. A is to be paid in cash brought in by B and C in such a way so as to make their capitals proportionate to their new profit sharing ratio, which is 3:2 respectively. Minimum Balance is to be maintained at Rs.8,000. 

Prepare Revaluation account, Partners’ Capital accounts and the Balance Sheet. 

	(8)

	Q.16


	A company issued 1,20,000 shares of Rs.10 each at premium of 20% payable as follows:

On Application Rs.5 (including premium) ; on allotment Rs.3 and balance on first and final call.

The company received applications for 1,50,000 shares and allotment was made as follows : 

Group A : Applicants for 80,000 shares were allotted in full .

Group B : Applicants for 50,000 shares were allotted 40,000 shares.

Group C : Applicants for 20,0000 shares were not allotted any shares.

A shareholder to whom 400 shares were allotted under Group A, paid full amount due on shares along with allotment money. Another shareholder holding 1,200 shares failed to pay the amount due on call. His shares were forfeited and 1,000 of these shares were subsequently issued as fully paid up @ Rs.11 per share.

Expenses of issue came to Rs.25,000 which were fully written off against securities premium a/c.

Pass necessary journal entries.

                                                     OR

A limited company offered for public subscription 50,000 shares of Rs.10 each issued at a discount of 10%, amount payable as follows:

On application and allotment                                    Rs.3 per share

On First call                                                              Rs. 5 per share

On Second and final call                                           balance

Applications were received for 70,000 shares and pro-rata allotment was made to all the applicants. Excess application money was adjusted on the sums due on first call. When the first call was made, one shareholder who had applied for 350 shares did not pay the amount due on first call and his shares were forfeited. Second call was made thereafter. Forfeited shares were re-issued at Rs.7 per share as fully paid up.

Pass necessary journal entries.

	(8)

	
	                                                         PART- B


	

	Q.17
	If operating ratio of a company is 85%, what will be the operating profit ratio?

	(1)

	Q.18
	What does cash equivalent include?

	(1)

	Q.19
	Interest received by a finance company is classified under which kind of activity while preparing cash flow statement?
	(1)

	Q.20
	State where do we show the following items in the balance sheet as per ‘Schedule VI’ of Companies Act 1956:

 (a) Securities Premium     (b) Loose Tools    (c) Interest on secured loans   (d ) Bills Receivables

 (e) Goodwill                     (f)  Share Forfeited A/c 


	(3)

	Q.21
	Prepare a common size statement of X Ltd with the help of the following information:

Particulars

2005                                 2006

Gross Sales

Return Inwards

Cost of Goods Sold

Indirect Expenses

Rate of Income Tax

1,10,000                          4,20,000

  10,000                               20,000       

60% of sales                  70% of sales

10% of Gross Profit

50% of Net Profit before Tax


	(4)

	Q.22
	(a) Calculate Return on Investment from the following information:

Share capital:                                                                                                      Rs.

Equity                                                                                                               40,000

Preference                                                                                                         50,000

General Reserve                                                                                              1,20,000

10% Debentures                                                                                              2,00,000                                                                                            

Current Liabilities                                                                                              50,000

Discount on shares                                                                                               2,500

Net Profit (after debenture interest and income tax)                                         40,000

Rate of Tax                                                                                                          50%

(b) Calculate Debt equity ratio from the following information:

                                                                                                                             Rs.

Total Assets                                                                                                      8,10,000

Total Debt                                                                                                         2,60,000

Current Liabilities                                                                                                  40,000
	(4)

	Q.23
	From the following information of a public company as on 31st  March, 2006 prepare a cash flow statement showing full working of your calculations:

Liabilities

2006

2005

Assets

2006

2005

Capital:

Equity Capital

!0% Preference shares

12% Debentures

Profit and Loss A/c

General Reserve

Current Liabilities 

4,00,000

2,00,000

1,00,000

2,00,000

1,50,000

   70,000

11,20,000

4,50,000

3,00,000

2,00,000

  ----

1,20,000

1,10,000

11,80,000

Fixed Assets

Investments

Current Assets

Profit and Loss A/c

Goodwill

Preliminary Expenses 

7,10,000

1,25,000

2,70,000

  ----

   10,000

     5,000

11,20,000

6,20,000

   80,000

3,40,000

1,00,000

   15,000

   25,000

11,80,000

The depreciation provided during the year was Rs.1,35,000.
	(6)
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